
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

أربعة كسور ، كسور عشرية ، ترتيب العمليات

− 2٫3 × 3 + =
2
1

2
1

− 2٫3 × 3 + 10 × 2 ÷ 2 =
2
1

5٫2 − − 2 × 2٫9 =
4
3

2٫9 + 10 × ÷ 5 + 5 × =
5
2

2
3

− 4٫7 × 4 + 16 × 3٫3 ÷ 4 =
5
3

5٫7 + 5٫5 + 3 × =
3
1

− × 4 + 5٫4 =
5
2

3
1

5٫8 + 20 × ÷ 4 − 5 × =
2
3

5
2

4٫6 − 3٫2 × 3 + 6 × 4٫3 ÷ 2 = 3٫4 − × 2 + 3٫7 =
5
2

www.snowmath.com

https://www.snowmath.com


　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

أربعة كسور ، كسور عشرية ، ترتيب العمليات

− 2٫3 × 3 + = (− ) = (−5 )
2
1

2
1

10
59

10
9

− 2٫3 × 3 + 10 × 2 ÷ 2 = = 3
2
1

5
18

5
3

5٫2 − − 2 × 2٫9 = (− ) = (−1 )
4
3

20
27

20
7

2٫9 + 10 × ÷ 5 + 5 × = = 11
5
2

2
3

5
56

5
1

− 4٫7 × 4 + 16 × 3٫3 ÷ 4 = (−5)
5
3

5٫7 + 5٫5 + 3 × = = 12
3
1

5
61

5
1

− × 4 + 5٫4 = = 4
5
2

3
1

15
67

15
7

5٫8 + 20 × ÷ 4 − 5 × = = 11
2
3

5
2

10
113

10
3

4٫6 − 3٫2 × 3 + 6 × 4٫3 ÷ 2 = = 7
10
79

10
9

3٫4 − × 2 + 3٫7 = = 6
5
2

10
63

10
3

www.snowmath.com

https://www.snowmath.com

